3

&
N

\\INSTALLATICIN INSTRUCTIONS FOR TSUNAMI CUSHIONS
/ ‘ WILL FIT E-Z-GO RXV, TXT, YAMAHA DRIVE, DRIVE?

INCLUDED: TODOLS NEEDED:
Left Bracket 10mm Wrench

Right Bracket Phillips Screwdriver
Hardware Pack Ratchet

7/16 Socket

Madjax recommends professional installation. If you choose to not have this product installed
by a professional, we highly recommend that you exercise caution, care, and patience when
installing this product as it involves drilling holes into your cart’s body.

Remove factory front seat. Remove and retain hip restraints. Remove hinges and hardware.

Install retained hip restraints and hinges on
seat bottom of new seat. Do not overtighten. \




Select It holes based on your'cart model a
lnstall t n back. t overtighten.

/

Using provided hardware install seatback.
Do not overtighten.

INSTALLATION COMPLETE

E-Z-GO®, TXT®, and RXV® are registered trademarks of Textron Innovations, Inc. (“Textron”). Reference to Textron’s
trademarks and products is only for purposes of identifying golf carts with which this Madjax product is compatible. Madjax
products are aftermarket parts and are not original equipment parts. Madjax is not connected or affiliated with or sponsored
by Textron® or E-Z-GO®.

Yamaha®, G-14®, G-19®, and G-22® are registered trademarks of Yamaha Golf-Car Company and Yamaha Motor
Corporation (“Yamaha”). Reference to Yamaha’s trademarks and products is only for purposes of identifying golf carts
with which this Madjax product is compatible. Madjax products are aftermarket parts and are not original equipment parts.
Madjax is not connected or affiliated with or sponsored by Yamaha Motor Corporation or Yamaha Golf-Car Company.

HARDWARE PACK

4 - M6x25 Bolts

4 - M6 Flat Washers

4 - M6 Lock Washers

4 - M10 Flat Washers

4 - M10x60 Countersunk bolts
4 - M10 Nyloc Nuts

4 - M6x40 Bolts

4 - M6 Flat Washers

4 - M6 Nyloc Nuts




